Pre-Calculus

Assignment

Perform the indicated operation.

1) glx)=3x+2
h(x) = x> +3x
Find g(2) - h(2)

Find g(0) - /(0)

5) h(x)=x3—2+2x
g(x) =2x+2
Find 4(1) - g(1)

7y h(x) =2x-5
g(x) = -2x% + 4x
Find 4(-9) + g(-9)

9) ht)=2¢-1

glt)=4r+3

Find h(4) - g(4)

11) f(n)=4n-2
g(n) =n’ - 4n
Find /(-1) - g(-1)

13) hlz) = % - 61
alt)=-3t+2
Find 4(2) + g(2)

15) glx)=3x+5
h(x) =-2x-1
Find g(5) + h(5)

17) h(a) =3a +1
g(a) =a’ - 54d*

Find 4(3) - g(3)

Name
Date Period
2) W) =1-3
at)=r>+2
Find h(4) + g(4)
4) g(x) =3x
f (x) = x> - x?

Find g(-5) + f(-5)

6) f(t)=7 +47
gt)=2t+2
Find £(3) + g(3)

8) f(a)=a—1
g(a)=4a+4

Find f(-4) - g(-4)

10) f(x)=x+1
g(x) =x% +5x

Find £(2) + g(2)

12) g(x) =-3x+4
h(x) =x-1
Find g(-8) + A(-8)

14) f(n)=2n-4
g(n) =n’+2n
Find /(4) - g(4)

16) g(x) =-x+5
h(x) =3x-5
Find g(-1) - h(-1)

18) f()=3r+5
gt)=1>-5
Find f(-1) - g(-1)

ID: 1



19) gla) =-3a-2
ha) = -2a+4
Find g(7) - h(7)

21) gln)=-4n-2
f(n) =4n-2
Find g(~1) - f(~1)

23) h(x)=x*-3

g(x)=2x+1

Find 4(3) - g(3)

25) glx) = —4x -3
f (x) =2x+4
Find g(-4) + f(-4)

27) gln) = 4n
h(n) =-2n+1
Find g(-8) + 4(-8)

29) g(x) = x> + 5x
h(x) =-x-4
Find g(8) - A(8)

31) glx)=-3x%+2
h(x) = 4x - 4
Find g(2) - 4(2)

33) f(n)=-3n%-2n
g(n) =-4n+1
Find £(7) - g(7)

35) g(x) =4x+4
h(x) =2x+2
Find g(~10) + h(-10)

37) gl)=2t+5
Fl)=4t-2
Find g(9) - £(9)

20) f(x)=3x+2
g(x) =-3x-5
Find £(3) + g(3)

22) gln)=4n-3
h(n) =n-3
Find g(2) + 4(2)

24) glx)=x-2
h(x) =4x+1
Find g(9) + 4(9)

26) h(x)=3x> +4x

g(x) =-x—-4
Find 4(0) - g(0)

28) gln)=3n+2
h(n) =2n-4
Find g(3) + 4(3)

30) g(x)=3x-3
h(x) =x-1
Find g(-8) + 4(-8)

32) hla) =3a-2
g(a) =3a+3
Find h(-9) + g(-9)

34) h(x)=x+2
g(x) =2x+4
Find 4(2) - g(2)

36) g(a) =-q-
fla)=a

4
-1
Find g(0) - £(0

. 1(0)
38) gla) =3a-2

h(a) =4a -5
Find g(2) - h(2)



39) f(a)=-4a -4 40) g(x) = 4x + 4
g(a)=a2—2 h(x)=3x—1
Find £(7) + g(7) Find g(7) + 4(7)

Identify the domain and range of each.

41) y=~Vx+1 42) y=~Nx+6

4 = 2\/x-3 -
43) y=—~x+1 44) y=-2Nx-3 -4

5

2 =\Vx-—
45)y=§\/x—1—1 46) y=~Nx-4
47) y=~Nx-3-2 48) y=-2Nx-2

49) y=-3Vx-2 50) y=Vx+5



Pre-Calculus

Assignment

Perform the indicated operation.

1) glx)=3x+2
h(x) = x> + 3x
Find g(2) - h(2)

112

f (x) =2x+4
Find g(0) - /(0)
=20
5) h(x)=x3—2+2x
g(x) =2x+2
Find 4(1) - g(1)
4
7y h(x) =2x-5 23
g(x) = -2x% + 4x 198
Find 4(-9) + g(-9)

9) ht)=2¢-1

glt)=4r+3

Find h(4) - g(4)

~12

11) f(n)=4n-2
g(n) =n’ - 4n
Find /(-1) - g(-1)
-9

13) hlz) = % - 61
alt)=-3t+2
Find 4(2) + g(2)

~12
15) glx)=3x+5 2

h(x) =-2x-1 1
Find g(5) + h(5)

17) h(a) =3a +1
g(a) =a’ -5a°

Find 4(3) - g(3)
28

Name 1ID: 1

Date Period

4) g(x) =3x
f (x) = x> - x?
Find g(-5) + f(-5)
-165
6) f(t)=7 +47
gt)=2t+2
Find £(3) + g(3)
71
8) f (a) =a-1
g(a) =4a+4
Find f(-4) - g(-4)
7
10) f(x)=x+1 S
g(x) =x% +5x 14
Find £(2) + g(2)

12) g(x) =-3x+4
h(x) =x-1
Find g(-8) + A(-8)
19

14) f(n)=2n-4
g(n) =n’+2n
Find £(4) - g(4)
96

16) g(x) =-x+5
h(x) =3x-5
Find g(-1) - h(-1)
~438

18) f()=3t+5
gt)=1>-5
Find f(-1) - g(-1)
6



19) gla) =-3a -2 20) f(x)=3x+2 i

ha) = —2a + 4 ax)==3xr-5 14
Find g(7) - h(7) Find 7(3) + 2(3)
~13

21) gln)=-4n-2 22) gln)=4n-3
fln)=4n-2 hn)=n-3
Find g(-1) - f(-1) Find g(2) + 4(2)
8 4

23) h(x)=x*-3 24) glx)=x-2
gﬁ)=2x+1 hb)=4x+1
Find 4(3) - g(3) Find g(9) + 4(9)
42 44

25) glx) =-4x-3 26) h(x)=3x> +4x
f(x)=2x+4 g(x)=—x—4
Find g(-4) + f(-4) Find 4(0) - g(0)
9 4

32 11

D T P
Find g(-8) + 4(-8) Find g(3) + 4(3)

29) g(x) = x> + 5x 30) g(x)=3x-3
h(x)=—x—4 h(x)=x—1
Find g(8) - A(8) Find g(-8) + 4(-8)
116 36

31) glx)=-3x%+2 32) ha)=3a-2
h(x)=4x—4 g(a)=3a+3
Find g(2) - 4(2) Find h(-9) + g(-9)
-14 -53

33) f(n)=-3n%-2n 34) h(x)=x+2
g@)=—@r+l gQ)=2x+4
Find £(7) - g(7) Find 4(2) - g(2)
~134 32

35) g(x) =4x +4 36) gla)=-a-4
h(x)=2x+2 f(a)=a2—1
Find g(~10) + h(-10) Find g(0) - £(0)
2 4

37) gl)=2t+5 38) gla) =3a-2
Fl)=4t-2 ha)=4a-5
Find g(9) - 7(9) Find g(2) - h(2)

-11 12



39) fla)=—-4a -4
a) =a>-2
Find £(7) + g(7)
15

Identify the domain and range of each.

41) y=~Vx+1

Domain: x = -1
Range: y =0

4
43) y=§ x+1

Domain: x = -1
Range: y =0

2
45) y=§ x-1-1

Domain: x = 1
Range: y = -1

47) y=Nx-3-2

Domain: x = 3
Range: y = -2

49) y=-3Vx-2

Domain: x = 2
Range: y <0

40) glx)=4x+4
h(x) =3x-1
Find g(7) + 4(7)
52

42) y=~Nx+6

Domain: x = -6
Range: y =0

44) y=-2Nx-3 -4

Domain: x = 3
Range: y = -4

46) y=Nx-4

Domain: x = 4
Range: y =0

48) y=-2Nx-2

Domain: x = 2
Range: y <0

50) y=~Nx+5

Domain: x = -5
Range: y =0



